April 29, 2013

Algebral
Lesson 9-4

* | can factor trinomials of the
form ax2 + bx + c.

* I can solve equations of the
form ax2+ bx +c=0
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A Pd\l' nomia | that cannot be written as
a PYDd uct of two polynomials with
'/n+egva l Coetficlents is called
a Prime pol\/momia |
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. . . Height of
A model for the vertical motion of a projected reception

object is given by the equation & = =162 + vt + s, N
where /4 is the height in feet, ¢ is the time in seconds, o

v is the initial upward velocity in feet per second, Height of ,*

and s is the starting height of the object in feet. “"eas\i/' .

At a pep rally, small foam footballs are launched
by cheerleaders using a sling-shot. How long is a
football in the air if a student in the stands catches
it on its way down 26 feet above the gym floor?
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Assignment

Pg. 499 #14-50 even, 51
due Thurs=> #/4-30 even
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